| Efficiency vs Dxy |

.05
Pad
j®)
@045
>
D.04
D
035
&
0.03
0.025
0.02
0.015
0.01
0.005

........................................................................

........................................................................

o+

Rat

0.95

)

0-15-10 =505 10 15 20 25
TP dxy (cm)

—=— DQM_mkFit_TToriginal

| Efficiency vs Dz |

N 0.2
©
9.18
oy
e
(&)
.14
(D)
0.12
0.1

....................................................................

4

*

...........................................

30
TP dz (cm)

—— DQM_mkFit_ TTNEWnoMS-genMatch-CUT



	Contents
	Page 1


